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?ﬁg TREOBEBOSILEHOKRES TREDHBEEILEHOKRES TEFEOBRBOEILHDOKRES TREOHBESLADKRES
5 X 4 B | Tamh o0 ADKES X 4 TIWALDKE | H& NDKES K 4 B | LimhoDlS NDKES |z Ltmpontks | B NDKES
(m) (m) (kN/ m) BB (m) (m) (kN/ m) (m) (m) (kN/ m) (m) (m) (kN/ m)
7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 4.04 50.65 | =nLS | 000 ~ 4.04| 2.06 10.43 st 1.00 | 6.00 ~ 5.00 50.65 | TnLS | 6,00 ~ 5.00| 2.06 10.43
2 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 4.05 50.78 | #nLS | 000 ~ 4.05)| 2.16 10.92 st 1.00 | 6.00 ~ 56.60 50.78 | =L | 6,00 ~ 560 2.16 10.92
3 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 633 79.561 | FnLS | 000 ~ 633| 1.86 9.39 st 1.00 | 6.00 ~ 7.60 79.51 | ThSY | 6,00 ~ 7.60| 1.86 9.39
4 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 6.63 83.65 | NS | 000 ~ 6.63| 1.80 9.09 st 1.00 | 6.00 ~ 800 83.65 | =hLS | .00 ~ 800 | 1.80 9.09
5 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 6.31 79.29 | FnLSY | 000 ~ 631 1.87 9.43 st 1.00 | .00 ~ 7.60 79.29 | ThS | 500 ~ 7.60| 1.87 9.43
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 000 ~ 713 90.66 | NS | 000 ~ 713 1.78 9.00 st 1.00 | .00 ~ 9.00 90.66 | ThLS | .00 ~ 9.00| 1.78 9.00
7 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
ZhLst 1.00 | 000 ~ 724 92.16 | =nLst | 000 ~ 0.00] 1.62 8.20 Zhst 1.00 | .00 ~ 987 92.16 | =S | .00 ~ 9.87| 1.62 8.20
3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhnLst — - ~ — —| #nst -~ — — — ZhLst — - ~ — —| Fnst - ~ — — —
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — - ~ — —| Fnst - ~ — — — Zhst — - ~ — —| Fnst - ~ — — —
10 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — - ~ — —| #nst - ~ — — — ZhLst — - ~ — —| Fnst - ~ — — —
11 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 000 ~ 765 98.05 | =nLs | 0oo ~ 765|213 10.79 Zhst 1.00 | 6.00 ~ 1024 98.05 | #hst | 6,00 ~ 1024|213 10.79
12 100kN/m#E#Z5| 100|000 ~ 193] 129.71 |3mZE#ZB| — ~ — — — | 100kN/mZ#B=z% | 1.00 | 1250 ~ 31.87| 129.71 |3m%E#Z5 - ~ — — —
zhlst 100|193 ~ 9.71 100.00 | #nst | 000 ~ 9.71| 2.80 14.15 zhilst 1.00 | 6.00 ~ 1250 100.00| FhLs | 5,00 ~ 31.87| 2.80 14.15
13 100kN/m#E#Z5| 100|000 ~ 185 12853 |3m&E#ZB| — ~ — — — | 100kN/mMZ#Bz% | 1.00 | 1269 ~ 3202| 12853 |3m&E#25 - ~ — — —
zhLlst 10018 ~ 964 100.00 | #nst | 000 ~ 964|279 14.09 Zhilst 1.00 | 6.00 ~ 1269 100.00| FhLs | 500 ~ 3202| 2.79 14.09
14 100kN/m#E#Z5 | 1.00 | 000 ~ 197 1530.44 |3mZE#ZB| — ~ — — — | 100kN/mMZ#B=2% | 1.00 | 1231 ~ 3067| 130.44 |3mE#Z5 - ~ — — —
zhLlst 100|197 ~ 976 | 100.00| FhLs | 000 ~ 9.76 | 2.81 14.22 zhilst 1.00 | 5.00 ~ 1231 100.00 | #nLst | 6.00 ~ 3067 2.81 14.22
P 100kN/m#E#Z5| 100|000 ~ 200] 1530.92 |3mE#Z3B| — ~ — — — | 100kN/ %825 | 1.00 | 1249 ~ 3500| 130.92 |3m%E#Z5 - ~ — — —
zhLlst 1.00 | 200 ~ 9.79| 100.00 | FhLst | 000 ~ 9.79 | 2.80 14.16 Zhst 1.00 | 6.00 ~ 1249 100.00 | Fhs | 500 ~ 3500| 2.80 14.16
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ﬁi’; TREOBEBOSILEHOKRES TREDHBEEILHOKRES TEFEOBEBOEILHOKRES TREOHBESLADKRES
= = AN A\ | = = A = A = | =
16 100kN/m%E#8z5 | 1.00 | 000 ~ 200 13092 |3mEBz5| — ~ — — — | 100kN/mM%&#B25% | 1.00 | 1249 ~ 3500| 130.92 |3mE#Z5 - ~ — — —
s 1.00 | 200 ~ 979 100.00 | =0t | 0.00 ~ 9.79 | 2.80 14.16 st 1.00 | 6.00 ~ 1249 100.00 | =4t | 6.00 ~ 3500| 2.80 14.16
17 100kN/m##8x5 | 1.00 | 0.00 ~ 231 136.03 |3mZBAB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 11.88 ~ 3632 136.03 |3mE#BZ% - ~ — — —
s 1.00 | 281 ~ 1010 100.00 | #nls | 000 ~ 1010| 2.85 14.39 st 1.00 | 6.00 ~ 1188 100.00 | =5 | 6.00 ~ 3632| 2.85 14.39
18 100kN/m%E#8z5 | 1.00 | 000 ~ 202 131.30 |3mE#Bz5| — ~ — — — | 100kN/mMZ&#B25% | 1.00 | 1241 ~ 34.46| 131.30 |3m%E#Z5 - ~ — — —
s 1.00 | 202 ~ 981 100.00 | =nlhst | 000 ~ 9.81 | 2.81 14.18 st 1.00 | 6.00 ~ 1241 100.00 | =nst | 6,00 ~ 3446 2.81 14.18
19 100kN/m%#8z5 | 1.00 | 000 ~ 206 131.81 |3mE#Bz3B| — ~ — — — | 100kN/mMZ&#B25 | 1.00 | 1234 ~ 3450| 131.81 |3mE#Z5 - ~ — — —
s 1.00 | 206 ~ 984 100.00 | =0t | 0.00 ~ 9.84 | 2.81 14.21 st 1.00 | 6.00 ~ 1234 100.00 | =nst | 6.00 ~ 3450 2.81 14.21
2 100kN/m##8x5 | 1.00 | 0.00 ~ 201 131.07 |3mZE#BZB| 000 ~ 0.57] 3.23 16.33 | 100kN/m%#8z25 | 1.00 | 1269 ~ 4210| 131.07 |3m&E#BZB| 2000 ~ 4210| 3.23 16.33
s 1.00 | 201 ~ 980 100.00 | =nLst | 0.57 ~ 9.80 | 3.00 156.16 st 1.00 | 6.00 ~ 1269 100.00 | st | 6.00 ~ 4000 3.00 15.16
21 100kN/m%E#BZ5 | 1.00 | 000 ~ 302| 14803 |3mEBZB| 000 ~ 101|545 17.43 | 100kN/m%#B2% | 1.00 | 1092 ~ 40.02| 14803 |3mEBZB| 40.00 ~ 40.02| 5.45 17.43
s 1.00 | 802 ~ 1080 100.00 | =St | 1.01 ~ 1080 3.00 156.16 st 1.00 | 6.00 ~ 1092 100.00 | =4t | 6.00 ~ 4000 3.00 15.16
29 100kN/m%x#8z5 | 1.00 | 000 ~ 303 14817 |3m&x#8z5| — ~ — — — | 100kN/ %825 | 1.00 | 1089 ~ 3897| 14817 |3m&E#Z5 - ~ — — —
ZhLst 1.00 | 303 ~ 1081 100.00 | TR | 000 ~ 1081] 2.98 15.07 zhilst 1.00 | 6.00 ~ 1089 100.00 | Fhst | 5,00 ~ 3897 2.98 15.07
23 100kN/m%E#BZ5 | 1.00 | 000 ~ 278 143.88 |3mZEHZ5| 000 ~ 086| 3.37 17.02 | 100kN/mi%#82% | 1.00 | 11.34 ~ 49.21 143.88 |3mZE#BAB| 2000 ~ 4921 3.537 17.02
ZhnLst 1.00 | 278 ~ 1056 100.00 | TS | 086 ~ 1056] 3.00 15.16 zhilst 1.00 | 6.00 ~ 1134 100.00 | Fhs | 5,00 ~ 40.00| 3.00 15.16
24 100kN/m%E#BZ5 | 1.00 | 000 ~ 300 147.74 |3mE8ZB| 000 ~ 096 5.42 17.29 | 100kN/m%#825 | 1.00 | 11.0¢ ~ 4800\ 147 74 |3m&E#BZB| 2000 ~ 4800| 3.42 17.29
ZhLst 1.00 | 300 ~ 1079 100.00 | RS | 096 ~ 1079] 3.00 15.16 zhilst 1.00 | 6.00 ~ 1104 100.00 | FhLS | 65,00 ~ 40.00]| 3.00 15.16
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~




